BRXE-+2SD= GB+&o _FER)

Je& t =

(1) BEBEREBTEREB152BT2
B a7 S22 < Je DT
TROLBY, (2)  EEBCEESTRE 2 5 XIIRIEBISRE 2 5 DOTEHELET,
ZHT D AR T S e < Ao
(3)  FHEOEIFE ZHIER L
(4)  REEEHFICHEY T HICEST

i 5 At ) e
JEHEE R R
M @ E

BT A
5 10 11 13 15
EAEAE . ) . A
m$w1%|]]%DDDDDDF ﬁ%DDEDDHDDE

i

(1) HEBREEEE 7RE 1 SICBT OE REEHOFHERILES] 2SR n>ht

gt [BRIR, ERcH, BfS. KIET. WIEM)
3 5 10 13 14 16 18
Bl I ] senn [ =00

(2)  HEBEES 7% 2 5 UIRESE154E 2 BB 5 B (FHEOHME) &l S o he
(3)  FEOHME ZHIER LI HE

5 [(FFR, SERRH, Bfs, KIET., BliEM]

I OOO0000000 = 0 00-00-00-

HET O LR MR L& o flE

K Ed

o (FFIR, CFEH, WIS, KIET, BlaM]
; 3 5 10 13 14 16 18
ol e e e e e [ =00 U0

HET O LR MR L& o flE

o (FFIR, CFEH, WIS, KIET, BlaM]
3 5 10 13 14 16 18
ol e e e e e [ =00 U0

HET O N R MR L& o fl

(@) HBIEEBESEFHE L EROH T ENOHI3FE TICHRET 2 KIEEMFIHE T 2ICESTGE

B AR dm



